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In the following question, find out which part of the 

sentence has an error if the sentence is grammatically 

correct, mark your answer as No Error.



I don't know much (A)/  about you, but (B)/ I think he 

will not pass (C)/ in the annual examination that is 

going to happen next month. (D)/ No Error (E)

1. A

2. B

3. C

4. D

5. E



Many a student of the nearest convent school (a)/ were 

present (b)/ when an external invigilator (c)/ entered 

the class suddenly for inspection during the 

examination .(d) no error (e) 

1. a

2. b

3. c

4. d

5. e



Though I am a forgetful and (a)/ oblivious person I 

remember meet her (b)/ three years ago (c)/ when she 

was in Delhi for a job interview at RITES.(d)/ no error 

(e)

1. a

2. b

3. c

4. d

5. e



I am stopped at the gas (A)/ station for a moment (B)/ 

to fill up the tank and then (C)/ will proceed to the 

next city for dinner.(D)/ No error

1. A

2. B

3. C

4. D

5. No error



The rate of metabolism of (1)/ a body is comparatively 

lowest when (2)/ it is at rest and is (3)/ thus optimum 

for examination.(4)/ No error (5)

1. 1

2. 2

3. 3

4. 4

5. No error



Given below is a word, followed by three sentences 

which consist of that word. Identify the sentence(s) 

which best express(es) the meaning of the word. Choose 

option 5 ‘None of the above’ if the word is not suitable 

in any of the sentences.



MASSIVE

A. The gorilla had a massive forehead.

B. Eight massive stone pillars supported the roof.

C. The baby put his massive hand in mine.

1. Only A

2. Only B

3. Only C

4. Both A and B

5. None of the above



OVERCAME

A. If you cancel now I'm afraid you overcame your deposit.

B. She overcame an injury to win the Olympic gold medal.

C. He overcame a strong temptation to run away.

1. Only A

2. Only B

3. Only C

4. Both B and C

5. None of the above



ACCORDANCE

A. His theory of representing history by sculpture is thoroughly 

in accordance with that of ancient Greece.

B. The two souls acted in accordance with the soul of the 

animal becoming a reflection, as it were, of the soul of the god.

C. Who do you think will come forward to accordance a 

notorious criminal like him?

1. Only C

2. Both A and C

3. Only B

4. Both A and B

5. None of the above



LYING

A. He had a gut feeling that Sarah was lying.

B. He was just lying there completely pissed.

C. There is no lying road to success.

1. Only A

2. Only B

3. Only C

4. Both A and B

5. Both B and C



A sentence/a part of the sentence is underlined. Five 

alternatives are given to the underlined part which will 

improve the meaning of the sentence. Choose the correct 

alternative and click the button corresponding to it. In 

case no improvement is needed, click the option 

corresponding to "No improvement."



Neither the principal nor the teachers are interested in their jobs.

1. His job

2. Her job

3. Theirs job

4. Theirs jobs

5. No improvement



Neither Madhu nor Rama has done any work.

1. Their work

2. Our works

3. Her works

4. His works

5. No improvement



The French were the first to use camouflage during World 

War I.

1. A French were

2. A French was

3. An French were

4. An French was

5. No improvement



By who was the Mahabharata written?

1. By who is

2. By which was

3. By whom was

4. No improvement

5. None of the above



I had a excellent experience yesterday.

1. An excellent experience

2. A excellent experiences

3. An excellent experiences

4. The excellent experiences

5. No improvement



Select the most appropriate word to fill in the blank.



During the recent celebration of Pride month (June) 

globally and in India, we witnessed an _______ social 

media presence filled with striking images and stories.

1. Discernible

2. Avoidable

3. Fable

4. Incredible

5. Responsible



Public schoolteachers and plantation workers also 

launched their own protests last year, _______ higher 

wages.

1. Demanding

2. Abiding

3. Abusing

4. Dejecting

5. Projecting



She added that an increase in public investment would 

crowd in (or pull in) private investment, thus _______ 

the economy.

1. Preserving

2. Swerving

3. Reviving

4. Reversing

5. Regressing
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